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Q.1

Q.2

Q.3

Q.4

(=2

PHYSICS

A cuboidal block of height a and width bis Q.1
placed on the horizontal surface with sufficient

friction then for a given force
b

I
>

f—»

a

A\ 4
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(1) Probal‘tl)lilllitl}’/ of toppling is more if b>a
(2) Probability of toppling is more if a > b
(3) Probability of toppling is more ifa = b
(4) Block can not topple

Six charges are placed at the corner of aregular Q.2
hexagon as shown. If an electron is placed at
its centre O, force on it will be:

(1) Zero
(3)Along OC

(2) Along OF
(4) None of these

A block of mass m; = 2 kg on a smooth (.3
inclined plane at angle 30° is connected to a
second block of mass m, = 3 kg by a cord
passing over a frictionless pulley as shown in
figure. The acceleration of each block is-
(Assume g =10 m/sec?)

30°
(1) 2 m/sec? (2) 4 m/sec?
(3) 6 m/sec? (4) 8 m/sec?

Consider the figure, equivalent capacitance Q.4
between 4 and B is

AG LG G158 &8
| 11 | | | | 1
||
1"V
Ye @ %
»% @%

a $aTS AT b AISTS BT Uh I solfch U
gy gren dfaot wdg R Red g, af g
9o & ford

f—»

a

v
CEEEEE7TTTTITIIIIIIIIIdIIIiiZiz7

(1) gete~T &1 Wiidar e 81l § afs h>a 8l
(2) yete @ WRwAT 31fde Bl ® afd a> b &l
(3) eTeH @ Wi 31fdre Bl ® afd a=h&r

(4) <l 78T Yelc Febdl

T FHYCYS & DIl TR B A RETTAR
FaRed 2| At B O W Th galagi <l
S0 7 39 WX 9o 81T ¢

(2) OF argfawr
(4) 3T & 9 BIS T

(Hz
(3) OC & s

30° @Il & TP I d da iR Rerd
m, =2 kg S BT U i &5 § <ol
FIAR T TYUEN R IR | YoiRdl U
SN gRT 799 m, =3 kg ® b g il
A ST & | AP Alh HI @RI & - (AT g=
10 m/sec?)

30°
(1) 2 m/sec? (2) 4 m/sec?
(3) 6 m/sec? (4) 8 m/sec?

o R AR FING, 4 T B & 70 g3
eTReT & —

AG 1§ G119 A8
|II II|II

(1) C

OFS
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Q.5

Q.6

Q.7

Q.8

Q.9

(=2

The loss in weight of a body taken from Q.5
earth's surface to a height h is 1%. The change

in weight taken into a mine of depth h will be-

(1) 1% loss (2) 1% gain

(3) 0.5% gain (4) 0.5% loss

A car of mass 1250 kg is moving at 30m/s. Q.6
Its engine delivers 30 kW while resistive force

due to surface is 750 N. What max
acceleration can be given in the car?

(1) %m/sz ) %m/sz

1 2 1 2
—m/s —m/s

A uniformaly tapering vessel shown in Fig. is Q.7
filled with liquid of density 900 kg/m>. The

force that acts on the base of the vessel due

to liquid is (take g = 10 m/s?) -

AREA = 10—3m?2

AREA =2 x 10-3m?

(1)3.6N
(3)9.0N

(2)7.2N
(4)12.6 N

When a point source of monochromatic light Q.8
is at a distance of 0.2 m from a photoelectric

cell, the cut—off voltage and the saturation
current are 0.6 volt and 18 mA respectively.

Ifthe same source is placed 0.6 m away from

the photoelectric cell, then :

(1) The stopping potential will be 0.2 V

(2) The stopping potential will be 0.6 V

(3) The saturation current will be 6 mA

(4) The saturation current will be 18 mA

Net resistance between X and Y is — Q.9
X Y

(H4Q (2)4.55Q

3)2Q (4)20Q

Y] BT T W BB Has h W o S R Th
&I BT AR 1% HH & 91T & | IS o901 a9
BT TP wa= § 'h' TEIE W o ST Y
AR A gRad= 8 -

(2) 1% afg

(1) 1% &
(3) 0.5% 3fg (4) 0.5% BT

1250 kg S99 @1 U &R 30m/s a7 ¥
Tferefiar 21 S 3R 30 kW wifaa u=e
AT & STaidh A §RT T 7 I8 UfeRre
T g 750N 8 | HR BT fae rfdrdad @xor
fear <1 Adar 87

(1) %m/s2 (2) %m/s2

(3) %m/sz 4) %m/s2
o H eIAT AT UHHAE wY | STaRiord
(tapering) 93 900 kg/m> €9cd & &a | =T

I T | SG & HRYT UH $ AR R U g
HIIRA BT 7, ® (take g= 10 m/s?) -

(1)3.6N
(3)9.0N

(2)7.2N
(4)12.6 N

S9 TP UHavil 75 BT FAd Th U]
9T AT H 0.2 m BT g W 7, A W
qiecdT T AJW &RT A 0.6 diec T 18
mA T | IS F9 Fd DI GBI dgd Jo |
0.6 m T3 3@ 9, a7 :

(1) PRI favg 0.2 V &

(2) PRI fava 0.6 V &

(3) FRieft fawa 6 mA =

(4) Fq<T &aRT 18 mA BT

XTd Y 7 ol ufoRre g —

X Y

()40
(3)20

(2)4.55Q
(4)20 Q
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Q.10

Q.11

Q.12

Q.13

(=2

The reading of air thermometer at 0°C and
100°C are 50 cm and 75 cm of mercury
column respectively. The temperature at which
its reading is 80 cm of mercury column is :

(1) 105°C (2) 110°C

(3) 115°C (4) 120°C

An elastic circular wire of length / carries a
current I it is placed in a uniform magnetic field

B (out of paper) such that its plane is

perpendicular to the direction of B . The wire
will experiences :

(1) No force (2) A stretching force
(3) A compressive force(4) A torque

Two springs of the same material but of length
L and 2L are suspended with masses M and
2M attached at their lower ends. Their time
periods when they are allowed to oscillate will
be in the ratio

(1)1:2
(3)1:4

2)2:1
4)4:1

The force exerted on 10 kg block by floor of
lift, asshown inthefigureis (take g = 10 m/s?)

5 kg T3 m/s’

10 kg

(1) 180 N
(3) 195N

(2) 150 N
(4) 135N

0°C g 100°C WR a1y TTUHTd! DT UISATH HHIT:
UR & P 50 cm d 75 cm 8 | 98 ATqHA
T TR gABT UIgAId FH T+ 6T 80 cm &,
2

(1) 105°C
(3) 115°C

(2) 110°C
(4) 120°C

[ STH1E BT U GARY bR AR GRT I
AT 2| 39 UHHHE gD &3 (PITS &
9ER) H 39 UBR QT oAl & &b @1 ad

B (@TTS1 & 9TeR) &) feun & ovad @

(1) ®rg ge1 el
(3) U AU de

(2) v& diaa 9
(4) UH gered

La2L awTg & 919 uered &f g Ryl &
el RRIE T M @ 2M S99 SIShR dehil
T B | I8 Sl B & ol W e Bl IR

S adDlell § FTUTd BT

()1:2
(3)1:4

e # <ol g9 fode & ®ef g1 10kg &
i W ARG 9 2 (IR g = 10 m/s?)

5 kg TS m/s’

10 kg

(1) 180 N
(3) 195N

(2) 150 N
(4) 135N
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Q.14

Q.15

Q.16

Q.17

(=2

Two glass blocks of triangular cross section
(n=1.5) are used to make a periscope. Which
of the following is the correct arrangement?

RN 4
(1) )
NI [N(E=S
N IIEN
) (4)
4 )% N (&

The block of mass M moving on the frictionless
horizontal surface collides with the spring of
spring constant K and compresses it by length
L. The maximum momentum of'the block after
collision is

M

AT

T

KL?
(1) VMK L @) o1
(3) zero (4) MTLz

A bicycle wheel of radius 0.5 m has 32 spokes.
It is rotating at the rate of 120 revolutions per
minute, perpendicular to the horizontal com-
ponent of earth's magnetic field Bj; =4 x 10
tesla. The emf induced between the rim and
the centre of the wheel will be-

(1)6.28 x 105V
(3)6.0x 105V

(2)4.8x 105V
4)1.6x 105V

Two adjacent piano keys are struck
simultaneously. The notes emitted by them
have frequencies n; and n, . The number of

beats heard per sound is
(1) (n;—n,)/2 (2)(n; +ny)/2
(3)n;—n, 4)2(n;—n,)

Q.14

Q.15

Q.16

Q.17

BRST®R TR &1 (n= 1.5) & a1 34
APl B Udh YRS (periscope) & wI H
STINT H orIT ST & | 77 o 9 pI=iT yaen

HETE P

IIRN 4
(1) )
INEIEES NI D
N (N
) (4)
4 N (=

T TS &ifst |as W ieid M g e
THIRMT & T 59 L owrg I AU d_al
2| TTPR B UL D Pl AABTH FaAT 2

M

AV

I

KL?
(1) VK L %
OES M

3591 0.5 m & T AEfhd & Uy # 32 Wi
2| I8 9l B gROE &5 & Afae °gch
By, =4 x 10 el & of/ad 120 o ufd
e @1 e 9 gA I & | ufed &I RA 9 g
& Heg URG fagfa ar8d aeT BN -

XX X X X X X X

(1)6.28 x 105V
(3)6.0x 105V

(2)4.8x 105V
4)1.6x 105V

qT oA fUaMl (piano keys) @ d¢ &I Uk
AT ST ST & | $978 §IRT SeAToid WR 0,
qn, AGREAT I@Gd B | Gfq APpvs g T3
fael o | § -
(1) (n; —n,) /2
(3)n;—n,

(2)(n;+n,)/2
(4)2(111—112)
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Q.18

Q.19

Q.20

(=2

In the circuit shown in the figure, the A.C. Q.18
source gives a voltage V =20 cos(2000 t) volt
neglecting source resistance, the voltmeter and
ammeter reading will be :

6 Q

50mH, 4 S0uF

4111118 {|

O,
2)5.6V, 1.4A
(4)1.68V,047A

(1) OV, 1.4A
(3)0V, 0.47 A

Energy levels A, B, C of a certain atom
correspond to increasing values of energy;, i.e.
E, < Eg < Eq. If Ay, A,, As, are the
wavelengths of radiations for the transitions
C - B, B —> A and C — A respectively,
which of the following statements is correct

Q.19

Mhy

(DA3=2;+h, () A3= 3,1,
BG)h; T hy+A3=0 (4132 =02 +0,2

A neutron star of enormous density is rotating
at the rate of one rotation per second. If the
radius of the star is 20 km, then the acceleration
in m/s? units for any particle situated at the
equator of the star will be: (n? = 10)

(1) 8 x10° (2)20 x 103

(3) 12 x 108 (4)4 =108

Q.20

fer ¥ fawr 1 aRuer # A.C. ST &1 dlecs
V =20 cos(2000 t) | HAT & YRR &I
UG A gY dlecHIeR T FHICR & UISTIdh
SHHL BT

6 Q

50mH, 4Q  SO0pF
d11111% {|
)
\J,

(1) OV, 1.4A
(3)0V, 0.47 A

(2)5.6V, 1.4A
(4) 1.68 V, 0.47 A

ol & dgd 8¢ AMI | Hafed v Mied
AT & FHoil Wik A, B, C 31 E <Ep <
E. g1 afe dmaor C —> B, B > A qen
C—> A fou fafexol & qRweed masr A,
Ay, Ay 8, T T H < IR AET 22

Mhy

(DA =2 +2y @) A= 3 ,
BG)hy T hy+a3=0 () A32 =02 +0,2

e e &1 U& RIS ART Y goiF gt
AHTE B R 4§ FOF IR BT & | A R B
2roar 20 km &, 1 AR &1 qHeT I R Rerd

foft w1 & forg @RoT (m/s? #) B
(2 = 10)
(1) 8 x 103 (2) 20 x 103
(3) 12 x 106 (4) 4 x 10
Page # 6



Q.21

Q.22

Q.23

Q.24

Q.25

Q.26

Q.27

Q.28

Q.29

Q.30

(=2

CHEMISTRY

The amountofzinc required to produce 224mL Q.21 e @1 faeil wr=m @ a9 H SO, & W

of H, at NTP on treatment with dilute HZSO A
will be -

(1)0.65¢g (2)6.5¢

(3)65¢ (4)0.065¢g

The spectrum of He-atom may be considered
similar to the spectrum of -

(HH (2)Li*

(3) Na (4)He"

The number of nodal planes ina p, orbital is :
(1)one (2)two

(3) three (4) zero

The compound which has the highest Lattice
energy is

(1) LiF (2)LiCl

(3) NaCl (4) MgO

Which of the following gases will have the
highest rate of diffusion?

(1o, (2) NH,

(3) CO, (4)N,

The minimum energy required for areaction to
take place is called
(1) internal energy
(3) activation energy

(2) threshold energy
(4) free energy

Which is/are amorphous solids-
(1) Rubber (2) Plastics
(3) Glass (4)All

The normality of 0.3 M phosphorus acid
(H;PO5)is
(1)0.1
(3)0.3

(2)0.9
(4) 0.6

Electrolysis involves oxidation and reduction
respectivelyat :

(1) Anode and cathode

(2) Cathode and anode

(3) Atboth the electrodes

(4) None of these

All collodial solutions show :
(1) Very high osmotic pressure
(2) High osmotic pressure

(3) Low osmotic pressure

(4) No osmotic pressure

Q.22

Q.23

Q.24

Q.25

Q.26

Q.27

Q.28

Q.29

Q.30

AR By IR NTP W 224mL H, o1 8-

(1)0.65¢
(3)65g

(2)6.5g
(4) 0.065¢

‘fﬁ%ﬂﬂ UXHIY] DT ICH I(?’OHCIV THIT HIAT ST
AHdT & —
(HH

(3) Na

) Li*
(4) He

p, FEF H A @i (Arsa dell) BT H=A |
(1) v Wk
(3) < 4

forsg Afirs & STt Sl Seaaq o—

(1) LiF
(3) NaCl

= 4 9 fog 9 4 R &7 v SaaH
1?2

(1) O,
(3) CO,

Afffhar 89 & ford smawad =gAad Sl
PEAN &

(2)LiCl
(4)MgO

(2) NH,
(4)N,

(1) 3m=aRe Fott (2) ST SHoft

(3) Afdrgor Jait (4) g Sl

o= ¥ P4 sifheedig o 2 -

()RR (2) wiiRed

(3) ofa (4)

0.3 M BB avel (HyPO;) @1 Afvierdn &—
(1)0.1 (2)0.9

(3)0.3 (4) 0.6

faeyceTaae ¥ Afferd SifaRTTRYT TRIT STTea
HH: fhd W BIA T

(1) Tre T2 defrs

(2) DATE TAT VATS

(3) ST geragiel W

(4) 379 & B T

Tt Preiizs faeaT Toid 8
(1) 31fcr Iz IRTARYT q9

(2) ST IRIIRYT g9

(3) "1 WRTHROT T4

(4) PTS IRRIRT 19 e
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Q.31

Q.32

Q.33

Q.34

Q.35

Q.36

Q.37

Q.38

Q.39

Q.40

(=2

The simplest alkane which exhibits chain
isomerism has how many carbon atoms :
(14 (2)5 3) 6 43

Chlorobenzene is -

(1) More reactive than ethyl bromide

(2) More reactive than isopropyl chloride
(3) As reactive as methyl chloride

(4) Less reactive than benzyl chloride

Anhydride of alcohol is-
(1) Ether

(2) Aldehyde

(3) Alkanoic anhydride
(4) Alkoxides

Which aldehyde is insoluble in H,O -
(1) Propanal (2) Ethanal
(3) Butanal (4) Heptanal

The number of electrons present in the valency
shell of carbon of carbanion :
(1)8 2)7 3)6 (4)4
Alicyclic compound is

(1) Aromatic compound

(2) Aliphatic compound

(3) Hetero cyclic compound

(4) Aliphatic cyclic compound

Which of the following will show geometrical
isomerism ?

(1) 1-Butene

(2) 1,2-Dibromoethene

(3) Propene

(4) Isobutylene

Solvent used in the, Friedel Craft’s reaction is:
(1) Nitrosobenzene  (2) Nitrobenzene

(3) Benzene (4) Toluene
Triphenyl phosphine is —

(1) Neutral and monodentate ligand
(2) Neutral and tridentate ligand

(3) Uninegative and unidentate ligand
(4) Trinegative and tridentate ligand

Chloride ore among the following is -
(1) Malachite (2) Magnesite
(3) Magnetite (4) Rock salt

Q.32

Q.32

Q.33

Q.34

Q.35

Q.36

Q.37

Q.38

Q.39

Q.40

S{RISAT FAGIGAT AT Tl ARATH Yo
# fpdd wrET 9] B @

(1) 4 (2)5 (3) 6 4)3
FART T=IA B -

(1) vferer sTSS o1 3rer 1 foparefiat
(2) AU FARTES @1 37T 31w forameier
(3) Al FARTSS B T fohareiia

(4) IR FARTES @F 3MUeT HH fohareiier
UohIglal &1 TAEISEIRE o—

(1) geR

(2) tfcserss

(3) TehAIEH UTEISSIeD

(4) TochiaaTss

P gfesergs H,0 # affderd 8-
(I)Eﬁj}lﬁﬂ (2) T
(3) et (4) g

BT TIT B DIad B Aol B F IuRkerd
golaeTl Pl AT B
(18 2)7

(3)6 (4) 4

vforrgfadad Qe 28—
(1) WRifes s
(2) Vformfed diffTa
(3) fww afpa fes

(4) Vformfesw afea AffT®

= § 9 o9 Suafy g9 gelRia
PRAT & 2

(1) 1-=g&=

(2) 1,2-STSsmHIue=

3) g

(4) sl el

Wred Hhite JfAfhar § s faarae o |

it 8-
(1) TSRS (2) SR
(4) g

(3) T

ST BTl BIRBIT & —

(1) e Ud &b forivs

(2) STRIA & f3—g=g ferivs
(3) TF FUMAS Y& TF g forvs
(4) B T4 B—ags ferivs

e ¥ 9 IRES R © -
(1) Frmrse (2) FF=ATSCT
(3) Frege (4) 3P <1qur
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Q.41

Q.42

Q.43

Q.44

Q.45

Q.46

(=2

BIOLOGY

A living organism can be differentiated from a
nonliving thing on the basis of its ability for —
(1) Conciousness

(2) Growth and movement

(3) Responsiveness to touch

(4) Interaction with environment and
progressive evolution

Which is not correct about methanogens ?

(1) They are archaebacteria

(2) They live in marshy areas

(3) Methane is their preferred carbon source

(4) They are present in guts of several ruminant
animals (cow, buffaloes) and they produce
biogas (CH,) from the dung of these
animals

Select the correct options about algae -

(1) Some algae are associated with fungi (in
lichen) and animals (on sloth bear)

(2) Great range in form and size

(3) Reproduce by vegetative, asexual and
sexual method

4 Al

What is characteristic of deuterostomes ?

(1) Radial cleavage, blastopore becoming mouth
(2) Spiral cleavage, blastopore becoming mouth
(3) Radial cleavage, blastopore becoming anus
(4) Spiral cleavage, blastopore becoming mouth

The true diploblastic animals belong to
(1) Coelenterata & ctenophora

(2) Cnidaria & porifera

(3) Annelida & Nema toda

(4) Porifera & protozoa

Cestodes are distinguished from other
flatworms by the absence of :

(1) nervous system

(2) digestive system

(3) excretory system

(4) reproductive system

Q.41

Q.42

Q.43

Q.44

Q.45

Q.46

SHfAd Siid IHS! IFIAT & IR R [Yarfad
w7 ¥ At awqell & fafka 8 wodr 8-
(1) oo & forg

(2) gfg Tam A & forg

(3) et & ufy ufafar & forg

(4) TATAROT TAT HiADG IGTHT & AT =T
fopar & forg

AT & IR H BT L R 8 P

(1) ¥ snfpafeeRar g €1

(2) 3 Torcelt & # w|d 2

(3) #IT IBT UG BIE B & |

(4) 3 B3 SfFe STqgall (T, #4) @ o7id
IR B & AT U 59 Siwgall & MeR 4
g 9 (CH,y) S &R € |

AT & IR H FE! [dhed -

(1) B a1 Had (IaTdh) TAT STl (FdreT
q1e) & AT 9 B & |

(2) U TAT MR ¥ eI IR dqTet BNl & |
(3) BT, 3TeifiTes T ¢ifes A gRT goT
FA 2 |

(4) F

SYCRRERT H AFIALTOT RIT 57

(1) 3R fage, IRSIUR I3 &9 7T 2 |
(2) Afte g, EREUR 9@ a1 ST & |
(3) 3 fage, SIRIUR & &9 SIrT © |
(4) Afte fage, SRR &1 99 Sl & |

rdfae e o] T ©
(1) HAret=ger aam SHIBRT |

(2) TeSRar qem AR®RT |

(3) THfereT qen HereT |

(4) IRBIT qAT WErSIT |

! SrguRf & BRI VXIS BT 3T AU
Pl ¥ famfed e 3—

(1) a3 a= (2) ura_ aH

(3) Sl aH (4) UsT e a=
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Q.47

Q.48

Q.49

Q.50

Q.51

Q.52

(=2

Match the following

Column I Column II
A. Jasmine (1) Sucker
B. Pineapple (11) Rhizome
C. Zaminkand (iii) Stolon
D. Ginger (iv) Corm
Codes :

(1) A-(i), B-(iii), C~(iv), D(ii)
(2) A<(ii), B-(i), C-(iv), D-(iii)
(3) A<(iii), B-(i), C~(ii), D~(iv)
(4) A<(ii), B-(i), C~(iv), D(ii)

Consider the following statements and choose
the correct answer :

A. Advertising flag of Mussaenda is amodified
sepal

B. Pappus is persistent hairy petal in asteraceae
C. In Trapa, calyx is modified into two spines
Codes :

(1) All are correct

(2) Bis incorrect

(3) Cisincorrect

(4) A and B are correct

Anatomically dicot stem differ from monocot
stemin:

(1) Absence of hypodermis

(2) Presence of endarch xylem

(3) Having conjoint vascular bundle

(4) Presence of starch grains in endodermis

Adipocytes are mainly present in —

(1) Bones (2) Nerves

(3) Cartilage (4) Connective tissue
The toad possesses

(1) Bifid tongue, slippery skin and mucous
glands

(2) Salivary glands, mucous glands and parotid
glands

(3) Parotid glands, warty skin and semicircular
snout

(4) Slippery skin, yellow pigment and abundant
mucous glands

Mitochondria and chloroplasts are semi-
autonomous as they possess

(1) DNA

(2) DNA + RNA

(3) DNA + RNA + ribosomes

(4) Proteins

Q.47

Q.48

Q.49

Q.50

Q.51

Q.52

=1 1 gaferd aiforg—

LrEH&I LrEH&IT
A. SR (i) e
B. UrsTWS RESL]
C. Sifip= (iii) WS
D. 37c%® (iv) B
dv i

(1) A-(i), B-(iii), C~(iv), D(ii)
(2) A<(ii), B-(i), C-(iv), D-(iii)
(3) A<(iii), B-(i), C~(ii), D~(iv)
(4) A<(ii), B-(i), C~(iv), D(ii)

= Ul BT FTIT HINTT qAT T8l IR
-

A. Mussaenda &1 faSTU= 3108T ®UTARAT I8
TAT|

B. 09 TRl # Rl e o B |

C. STUT ¥ STEIGeTySt &l Hehl H WU a1 &
dv i

(1) 1 2|
(3) C 7Teta |

(2)B Tad B |
(4) AT B IR B |

G W™ TSI W™ 9 ITRR@T
U H 1 &, Do—

(1) ETsUreTi & rquRerf #

(2) 3 3N qTod @ SuRerfa #

(3) Conjoint W gt & SuRefRy

(4) ToeTsfHY # werd Foi a1 SuRefa |

UfSUATgCH qRaTa SURed 81 §—

(1) arRerat # (2) ifrepratt
(3) SuTler # (4) TSN e H
ars ¥ B i

(1) arEfire S, fad=1 @rem qe gorsr ufeer
(2) AR ufr, Tors r ufer qor Rifes ufer
(3) Wifes uf, aIfd @@ Tl G ITITHR
ST

(4) fae= @@, Nid aofe qen srufeid gorsT
ey

ATgClpif<gaT oI BRdcTad e 8
5, difds g9 BIAT o—
(1) DNA
(2) DNA + RNA
(3) DNA + RNA + gard™
(4) Wé
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Q.53

Q.54

Q.55

Q.56

Q.57

Q.58

(=2

Catabolic and anabolic pathways are often
coupled in cell because —

(1) The intermediates of a catabolic pathway
are used in the anabolic pathway

(2) Both the pathway use the same energy
(3) The free energy released from one pathway
is used to drive other

(4) Their enzymes are controlled by their same
activators and inhibitors

In plant cells, cytokinesis occurs by
(1) Cell plate formation

(2) Invagination

(3) Cleavage

(4) Furrowing

Deduce the value of ¥ and ¥ » of a flaccid
cell ifits OP is 30 atmosphere
(HY¥Y,=-30,¥,=0

@)W, =0,%,=15
(3) ¥, =30, ¥, =0
@)W, =15 %,=15

How many ATP molecules are required for the
formation of 3NH,, through symbiotic N,
fixation ?

(1) 16 ATP
(3) 32 ATP

(2) 24 ATP
(4) 38 ATP

Css H,y O N, Mg is the empirical formula
for

(1) Chlorophyll a
(3) Chlorophyll ¢

(2) Chlorophyll b
(4) Chlorophyll d

Number of molecules of CO, generated in ETS
when reduced coenzymes from one glucose

molecule are oxidised ?
(1) Zero 2)1
3)12 (4) 24

Q.53

Q.54

Q.55

Q.56

Q.57

Q.58

DIRTHT # o=l dm U=l fohar U U
|1 BT ®, Rilfh—

(1) gzt foram &1 wemad) Su=dl fohar #
JUANT BT B—

(2) T forametl H FHM ol BT SYART &Il
g |

(3) ugel fopam | Mp1a gad il gav
foar & Hare § SUAnT B R

(4) 37 U~IZH 3@ A AlhIBREG AT
ieHD! g1 Fafesd 8 8 |

gy HIRTERN H ATgeIhreARd 8l 8—
(1) ®IfRrepr ufger 0T gRY

(2) SRR gt

(3) R grT

(4) @f= AT gRYT

=T PIRTDT & P T BT A 1T DI
I g\a@T OP 30 atmosphere &—

(1)¥, =-30,¥,=0

@)W, =0,%,=15

(3) ¥, =-30,¥,=0

@)W, =—15,¥,=15

et N, Rerievor gR13NH, & i &
forq fham ATP S1jait a1 Smaedasdm gt 38—
(1) 16 ATP (2) 24 ATP
(3) 32 ATP (4) 38 ATP

£ £ £ €

Css Hyy O, N, Mg 93 ©—
(1) goieRa a &7 (2) oieRa b &1
(3) goTERd ¢ @ (4) yofgRa d &1

ETS #CO, & e 319 S & &, 519 Vb
TIPS 3T FUARIT DI—TolIgH AT
B 87
(D=
3) 12

)1
(4) 24

Page # 11



Q.59

Q.60

Q.61

Q.62

Q.63

Q.64

Q.65

(=2

.’E Shoot Meristem

Q.59
A
Root Meristem—""
In above diagram, the A part is developed first
as compare to B part. Therefore, Select the
right plant name, which have this type of event
during embryogenesis?
(1) Mango (2) Rice
(3) Mustard (4) 1 and 2 both
Dental formula of adult person is — Q.60
. 2122 5 2114
D3 2122 @ 31a 2114
3 2123 4 2123
®) 3123 2123 S 2124
Pneumotaxic centre is present in — Q.61
(1) Pons (2) Medulla oblongata
(3) Cerebrum (4) Cerebellum
Hepatic portal system starts from Q.62

(1) Digestive system to liver
(2) Kidney to liver

(3) Liver to heart

(4) Liver to kidney

The amount of the fitrate formed by the kidney/ Q.63
minute is called GFR (Glomerular filtration
rate). The GFR of a healthy adult is -

(1) 80 ml/m (2) 125 ml/m

(3) 300 ml/m (4) 20 ml/m

Pelvic girdle consists of — Q.64
(1) Ileum, ischium and pubis

(2) Ilium, ischium and pubis

(3) llium, ischium and Clavicle

(4) Coracoid, Ischium and Pubis

The forebrain develops into —

(1) Diencephelon and Cerebrum
(2) Diencephelon and Cerebellum
(3) Diencephelon and Medulla
(4) Diencephelon and Pons

Q.65

gmﬁﬁﬁéﬂﬂ?ﬁ

A

o favsaras —

SWRIE o 3 91T A9RT B @ g | ugd
fwfid g1 21 sdafey, |8 ued 9M &
I BT T HH Yoligwa & QR 39 THR
P geAT BNl B |

(1) o (2) @maet
(3) wet (4) 1 @2 2 <
JIG AfIT BT < G B
{ 2122 ) 2114
TPy 2122 @ 311 2114

2123 4 2123
) 2123 2123 ®) 2122 2124
JACfR® B SUReIT BT 8—
(1) ur=a (2) AT 3ifeARIe]
(3) yAReT=h (4) IrgART=h
AGd frarfadr I e BT B
(1) Ured T & Iga A
(2) g7 3 7% |
(3) 7 W gea A
(4) Tpd 31 I A

i e 9% gRTGFR (TeHweRr Mg &)
HEAT & | Th @RS G b1 GFR grar 8—

(1) 80 ml/m (2) 125 ml/m
(3) 300 ml/m (4) 20 ml/m
ST g a1 B B

(1) sforgm, sdfm den gfew ot
(2) sforgm, sdfmm qen gfew ot
(3) sferam, gARRA TAT Felfddbal Bl
(4) DRDIgS, THARTA TAT GiaH Bl

ERTss fAHRI BT 8-

(1) STTTAGAN qT yARass #
(2) STETRIGAN TAT AFARTED
(3) STTTRIGAM TT HegaT H
(4) STTTAGAN qr U= |
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Q.66

Q.67

Q.68

Q.69

Q.70

Q.71

Q.72

(=2

Which among the following are the hormones
of Gastro-intestinal tract —

A. Gastrin

B. Secretin

C. Cholecystokinin

D. Gastric inhibitory peptide

(1)Aand B (2)Cand D

(3) All of the above  (4) None of these

The above figure refers to which type of

reproduction in yeast ?
(1) Binary fission (2) Budding
(3) Layering (4) Fusion

The terms used when anthers and stigma of an
intersexual or perfect flower ripen before the
opening of buds as in wheat and pea is —

(1) Bud pollination

(2) Immature pollination

(3) Cleistogamy

(4) Selfpollination

Tunica albuginea covers
(1) penis
(3)ovule

(2) testis
(4) scrotum

Choose the correct option

I. RTI - Reproductive Tract Infections

II. VD - Venereal Diseases

III. STD - Sexually Transmitted Diseases
IV.IVF - Intra Vaginal Transfer

(HAI (2) L 11, I

(3) 11, 11 @@L

In the ABO system of blood groups, if both
antigens are present but no antibody, the blood
group of the individuals would be :-

(B 20

(3)AB 4A

About how long ago was the Earth
(1) 3.0 billion years ago
(2) 10 billion years ago
(3) 4.6 billion years ago
(4) 20 billion years ago

Q.66

Q.67

Q.68

Q.69

Q.70

Q.71

Q.72

o § 9 PI9T STeR—e=Ig ANt T B
3

A RgA

B. dffes

C. IR IBEA

D. Rea defd U<rss

(1) ATer B (2) C T D

(3) ST aH (4) T4 A I3 B

SR ford dRe § U9 & S UBR Bl
ENIRG
(1) fefagus
(3) e

g TRA Hex H 3R folill A1 gl g & WRITehIy
TT IRTHTT BfetdT & Golt | Ut U Sl &,
BB &—

(1) BT GRITOT

(2) MARYFT GRITOT

(3) TR

(4) ¥ GRITT

(2) 3BT
(4) dea

<1 TegfoT-aT MaRd Bl & |

(1) Rrest &t (2) 9T BI

(3) 3vE BT (4) gUOT BIY DI
|El fdped -

L. RTI - uSi<1ep ART HhHoT

II. VD - 3=RIe 3T

III. STD - <iffTe ®U | FaRkd [T
IV. IVF - 31 9f 5l IR0l
(1) |1 )L 10, 1T
(3) 11, 1T @Lu

R Wl DI ABO yoITel! # afe fohl eafad
qFl fo (TEIo) Wiee & der ufafis
(TEEE) va i 7 8 o1 99 afad BT Xad

HHE T BIT—
(1)B )0
(3)AB (4)A

ged] BT ST = Tel gRIHT & —
(1) 3.0 billion years ago
(2) 10 billion years ago
(3) 4.6 billion years ago
(4) 20 billion years ago

Page # 13



Q.73

Q.74

Q.75

Q.76

Q.77

Q.78

Q.79

Q.80

(=2

Fatty liver syndrome is due to
(1) cigarette smoke

(2) alcoholic drinks

(3) opiate narcotics

(4) psychedelic drugs.

The technique of obtaining large number of
plantlets by tissue culture method is called

(1) Organ culture

(2) Micropropagation

(3) Macropropagation

(4) Plantlet culture V

The wax glands in honey bee are present-
(1) On the ventral side of the last segment
(2) On the ventral side of last four abdominal
segments

(3) On the dorso-lateal side of first two
abdominal segments

(4) On the lateral sie of last two abdominal
segments

Streptomycin is produced from -
(1) Streptomyces scoleus

(2) Streptomyces griseus

(3) Streptomyces fradiae

(4) Streptomyces venezuelae

When the codon of mRNA is 5-GUC-3' then
the anticodon on tRNA will be

(1) 5'-CAG-3' (2) 3'-CAG-5'

(3) 3'-CUG-5' (4) 3'-GAC-5'

Insertional inactivation is related to
(1) Microinjection

(2) Gene gun

(3) Gel electrophoresis

(4) Selection of recombinants

Inland fisheries are

(1) Deep sea fishing

(2) Capturing fishes from sea coast

(3) Raising and capturing fishes in fresh water
(4) Oil extraction from fish

Biogas contains

(1) 30%-40% methane
(2) 50%-70% CO,
(3) 50%-70% methane
(4) 20% methane

Q.73

Q.74

Q.75

Q.76

Q.77

Q.78

Q.79

Q.80

Hel AR R 89 &1 HROT 82—

(1) Rere d=

(2) TRME YT

(3) siifige AR®ICT

(4) AR T @) it

Sah Haee Ay gRT a1fde W H uredl
(Plantlets) T &R+ &I qPb-i1dh BT HEd 8—
(1) AT waeF

(2) g FeRoT

(3) <rd HERoT

(4) wiiceie (Plantlets) Sae

HepTadl # Ayt SufRerd Bt 8-
(1) af~Tq @ve & TR B RSB

(2) 31T TR ISR WU B I”R B TRB
(3) 92 31 SR ULl & TB—URG Pl I}

(4) <\ T ST WoSt B UIed B Wb

LEMRERE urd B & —
(1) SCHRIGT WBIferaT
(2) e MR
(3) KEHIaT Bl

(4) FECHIEE a9l

Sid mRNA &7 ®red 5'-GUC-3' 8IaT &, a9
tRNA TR UoIhle & 8RIT 2

(1) 5'-CAG-3' (2) 3-CAG-5'
(3) 3'-CUG-5' (4) 3-GAC-5'
el fspreRe F=fag & —

(1) ged1 AN |

(2) S T |

(3) 9 SATSHRR |

(4) gAEASTHT & TIT A

I WISl fheNIST g—

(1) TeX |Y% H 7Ol bl

(2) Tg&l dC ¥ Hlorl Udhedl

(3) v Sd H Aol UdHST Ud qgMI
(4) 7Bl 9 dd fspyr e

IR H B § —
(1) 30% — 40% H
(2) 50% — 70% CO,
(3) 50% — 70% H
(4) 20% #o
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ANSWER KEY

Class : XIl (Medical) SAMPLE PAPER
Q1 2 Q.31 1 Q.61 1
Q2 4 Q.32 4 Q.62 1
Q3 2 Q.33 1 Q.63 2
Q4 1 Q34 4 Q.64 2
Q5 4 Q.35 1 Q.65 1
Q6 3 Q.36 4 Q.66 3
Q7 2 Q.37 2 Q.67 2
Q8 2 Q.38 2 Q.68 1
Q9 2 Q.39 1 Q.69 2
Q.10 4 Q.40 4 Q.70 2
Q.11 2 Q.41 1 Q.71 3
Q.12 1 Q42 3 Q72 3
Q.13 3 Q.43 4 Q.73 2
Q.14 4 Q.44 3 Q.74 2
Q.15 1 Q.45 2 Q.75 2
Q.16 1 Q.46 2 Q.76 2
Q.17 3 Q.47 4 Q.77 2
Q.18 2 Q.48 2 Q.78 4
Q.19 2 Q.49 4 Q.79 3
Q.20 1 Q.50 4 Q.80 3
Q21 1 Q.51 3

Q22 2 Q.52 3

Q23 1 Q.53 3

Q24 4 Q.54 1

Q25 2 Q.55 1

Q.26 2 Q.56 2

Q27 4 Q.57 2

Q28 4 Q.58 2

Q29 1 Q.59 3

Q.30 3 Q.60 3



